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Please show work on all queg(r)ns for partial credit even on questions which do not specify. (25 pts) (_ { 0 X

1. Complete the following reactions by giving the organic products (Circle the number of 4 of the following
reactions you want s each reactioq, 16 pts Wwovi {4 .(:0\,, all Ryws ‘
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Show the following reaction mechanisii.
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catalysis. (I did not go over this specific mechanism but if you think “generahzed nucleophlhc substitution” then you
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Extra Credit: Complete the reaction for the following..(2 pts)

CHa—%~O~—%—CH3 + excess CHy€HrO-H --32,(}14}—’&\@ C/L}LG [+ 3
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Please show work on all qué%ons for partial credit even on questions which do not specify. (25 pts)

1. Complete the following reactions by giving the organic products. (Circle the number of 4 of the following

~————seactions you want graded.) (4 pts-each reaction. 16 pts) (@5 s e (sl OVl | o~ LIl Rxw
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2. Show the following reaction mechanism. This is a nucleophilic substitution reaction mechanism under base
catalysis. (1 did not go overTiis specific mechanism but if you think “generalized nucleophilic substitution” then you
will get it) Show electron pushing arrows. (9 pts) — 2 )
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Extra Credit: Complete the reaction for the following..(2 pts)
e

CH;%—O—%4H3 + excess .0 — 2- C/UJ'} ‘?—MOH—
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¥

Please show work on atl quech(ms for partial credit even on questions which do not specify. (25 pts) (0 f O

1. Complete the following reactions by giving the organic products. (Circle the number of 4 of the following

reactions you want gr s each reaction, 16 pts W ov ’Fd\r all Ry lrJS)
1)
CH3;—CH>—O-H KoCra07/ HY Cl " /& OL—,L [
E———— b
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2. Show the following reaction mechasnisim. is 15 nucleophilic substitution reaction mechanism under base
catalysis. (I did not go over mllsm but if you think “genera};zed nucieophlilc substitution™ then you
will get it} Show electron pushing arrows. (9 pts) <Y oy H e
RE 4 bd&é’
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Extra Credit: Complete the reaction for the following..(2 pts)

CH;-%~O-%——CH3 + excess CH€H-O~H —92,@14}/5’-‘\0 G, Ci k;
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Please show work on all quegons for partial credit even on questions which do not specify. (25 pts)

I. Complete the following reactions by giving the organic products. (Circle the number of 4. of the following

ions you want graded. reaction, 16 pts 1SSy { O‘C__lélqgﬁhn a“&{{i)
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4) @ . {
CHsCHsC-O-H + SOChL — Cbﬂré i, — (4
Y-
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6)

CHy-CHrC-O—H  LiAlH
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CHsCH—C—Cl+ H-N—CH; ——
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2. Show the following reaction mechanism. This is a nucleophilic substitution reaction mechanism under base
catalysis. (I did not go overtfiis specific echanism but if you think “generalized nucleophilic substitution™ then you

will get it) Show electron pushing arrows. (9 pts) ~— (—_\
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Extra Credit: Complete the reaction for the following..(2 pts) /LJ;
e \

CH;—%-O-—%-CHg + excess H:0 —3 L C/m’} j}‘"@“,
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Please show work on all questions for partial credit even on questions which do not specify. (25 pts) ( O

. Complete the following reactions by giving the organic products. (Circle the number of 4 of the following
reactions you want graded.} (4 pts each reaction, 16 pts) ( kS5 Umg WOCK Ly ’Pd\r all Ryw 5)

1)
CH;:—CH»—O-—H K2Cr207/ HF
—
2y O
CH—G—~OH + excess HOCH,CH; =2
H+
3) " .
CH3~CH»>CH2-Br+Na C=N = H.O
—7
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CHt-0-H + SOCLh —
5) CHg.—%« Cl (P CH3CHy MgBr Twr
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2. Show the following reaction mechanism. This is a nucleophilic substitution reaction mechanism under base

catalysis. (I did not go over this specific mechanism but if you think “generalized nucleophilic substitution” then you
wili get ity Show electron pushing arrows. (9 pts)
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Extra Credit: Complete the reaction for the following..(2 pts)

1
CHs—(E}l‘O~—-%—CH3 + excess CHyr€CHr~O0-H —=
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Please show work on all questions for partial credit even on quesiions which do not specify. (25 pts)

1. Complete the following reactions by giving the organic products. (Circle the number of 4 of the following

reactions you want graded.) (4 pts each reaction, 16 pts) (Qssume WO le i T '@O\ﬂ a “ R 5)
1) CH;\C CHa CH2 KMnOs/ H'
u

2)
CH; CH~C—0OH + excess HO€H; —2
y+
3) . -
CH3-—-BI+Na C=N -2 H.0
—
4)

CH3~CH7—%—O-H + SOChL —7

5y CHs CHzCHz—%——-Br + CH;-Mg Cl -—

6)
CH-CHC-O—H  LiAlHa,

CH3CH2"—%*‘CI + H———EE{’—CI'E —
2. Show the foliowing reaction mechanism. This is a nucleophilic substitution reaction mechanism under base
catalysis. (I did not go overthis specific mechanism but if you think “generalized nucleophiic substitution” then you
will get it) Show electron pushing arrows. (9 pts)

7)

' : LI G ¢
CH>—CG—Cl '+ HN-CHs
ty H;

Extra Credit: Complete the reaction for the following..(2 pts)

hpe—————
CH;—%——O——%—CI—E + excess O ~—



